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a. Graph the position function. Choose the correct graph below.
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A stone is thrown vertically into the air at an initial velocity of 99 ft/s. On a different planet, the height s (in feet) of the stone above the ground after t seconds is
$=00t- 5% and on Earth it is s =99t - 16t°. How much higher will the stone travel on the other planet than on Earth?
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A stone is thrown with an initial velocity of 35 ft/s from the edge of a bridge that is 45 ft above the ground. The height of this stone above the ground t seconds after it
is thrown is f(t) = - 16t> + 35t + 45. If a second stone is thrown from the ground, then its height above the ground after t seconds is given by g(t)= - 16t% + Vot, where
vy is the initial velocity of the second stone. Determine the value of v such that the two stones reach the same high point.
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